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SCHEDULE(homeworks {H1... Hn}): decide if all these homeworks can be submitted?
Each Hi = (ai : announce time, si: solving time, di: deadline) // @mﬁ\&ﬂ Yok ok szuoc

Reduce from SUBSETSUM(X={x1... xn}, T): Is there a subset of X whose sum is T?

SUBSETRUM S, SCHEDULE

Lemma:(0) Reduction is polynomial time.
(1) If X has a subset Y whose sum is T then there is a way to schedule all Hi's.
(11) If there 1s a way to schedule all Hi's then there exists a subset X' of X with sum T.
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. (Not poukot Quiz Sydlabuy
Reduce IS (independent set) to SUBSETSUM !
Lemma: Let Reduce(G.k) = (X,T).

(0) Reduction is polynomial time.
(1) If G has a subset V' of (exactly/atdeast) k vertices then X has a subset X' of sum T.
(1) If X has a subset X' of sum T then G has a subset V' with (exactly/atleast) k vertices.
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